RIDGID Pipe Threading Machine

Electrical Components - 120V 60Hz

—2

s

17

18—
14
N
\ 12
13
/ 20
19
N 9
—10
NOTE: Order parts by Catalog Number only.
DO NOT order by Reference Number.
Ref. Catalog Ref. Catalog
No. No. Description No. No. Description
1 69342 Handle 1 23512 Rubber Washer
2 69192 Screw /4" - 20 x /2" Button Head (5) 12 69457 Switch Plate
3 69357  Rear Cover 13 23507  Switch Boot
4 69372 Rear Cover Gasket 14 69382 Switch
5 34722 Lock Nut #10-32 (2) 15 32145 Screw /2" - 20 x 1'/2" Soc. Head (2)
6 58542  Lock Washer #10 (2) 16 69107  Strain Relief (2)
7 69377 Foot Switch Hook 17 69327 Power Cord 115V
8 35217 Screw #10-32 x '/2" Button Head (2) 18 45420 Ground Screw
9 69287  Bottom Cover 19 44635  Wire Nut
10 45420 Screw #10-24 x %" Pan Head (2) 20 69087 B-292 Foot Switch Assembly
120V 60 Hz

135



Electrical Components - 100V 50/60 Hz Japan

220V 50 Hz Export

Pipe Threading Machine RIDGID

2
/
1
\ 3
1
12
13
/
10
15/ 14
N\
9 8
\ 5
—6
NOTE: Order parts by Catalog Number only.
DO NOT order by Reference Number.
Ref. Catalog Ref. Catalog
No. No. Description No. No. Description
1 69342 Handle 9 23507 Switch Boot
2 69192 Screw /4" - 20 x /2" Button Head (5) 10 69382  Switch
3 69357 Rear Cover 1 32145 Screw '/s" - 20 x 1'/2" Soc. Head (2)
4 69372 Rear Cover Gasket 12 69107 Strain Relief (2)
5 69287  Bottom Cover 13 69327  Power Cord 115V
6 79965 Screw #10-32 x /2" Pan Head (2) 14 89190 Quick Disconnect (2)
7 23512 Rubber Washer 15 45420 Ground Screw
8 69457  Switch Plate
100V Japan

230V Export

136





